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RRB Group D Exam Shifts 26 -September-2018

3rd Shift Asked Questions in English Language

General Awareness

World Weightlifting Championship Winner of 2017

Agricultural Minister of India

[IFA Best Actor Award 2017 went to?

Who authored the book Half Girlfriend?

All India Football Federation Player of the Year Award went to which
person?

Sports Minister of India

Full form of CllI

Which state does not share a boundary with West Bengal?
Upcoming Chief Justice of India

Who was the first woman cricketer to take 200 wickets from India?
Premier Badminton League 2017 winner team

What's the name of the missile launched in 20177

Pyari Mohan belongs to which state?

Which state got the Vijay Hazare Trophy?
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England Economy Award winner

How many double bonds are there in Benzene?
Who discovered Protein?

Tartaric acid is derived from which material?
The elements 19 to 36 come under which group?

Math

Ratio

BODMAS rule

Height & Distance

Geometry

Pipe & Cistern

A fills a tank in 22 hours, B fills the same tank in 33 hours. 5 hours
before the tank is filled, pipe A is closed. How much time will it take to
fill the tank?

The length of a train is 155 m. It takes 40.5 sec to cross a platform of
length 745 m. Speed of train =?

315 is 63% of x. Find x.

SP = Rs.490. Profit % = 16 2/3%. CP =?

Square root of 66
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X + 1/x = 3, x square + 1/x square =?
Trigonometry - 3-4 Qs
Profit & Loss - 3-4 Qs
Percentage - 2-3 Qs
Age-1Q

Time & Work - 2 Qs
SI,Cl-2Qs

Average -1 Q
Age-1Q

Percentage - 1-2 Qs
Simplification 2-3 Qs

Venn Diagram

Statements: All insects are danger. All machines are danger.
Conclusion: 1) All danger are insects. ii) Some machines are insects.
Statements: All books are novels. Some novels are poems. Conclusion:
1) Some book are poem ii) Some poem are novels.
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Which word cannot be formed from the word Uniformity? a) Annuity
b) Forum c) Mint d) Uniform
Resistance:Ohm::Current:?
13:156::17:7

56,72, 90,110, 132, 150, ?
Counting Figures - 1 Qs
Mirror Image - 2 Qs

Number Series - 2 Qs
Analogy - 2-3 Qs

Counting Figures -1 Q
Missing letter — 1Q
Alphabet series — 2Q
Counting of Triangles

Miscellaneous One Question on Syllogism.

Railway Group D & ALP &1 g latest meﬁqﬁ%ﬁl‘q
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